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Junior Hindi Translator, Junior Translator, Senior Hindi
Translator and Hindi Pradhyapak Examination-2019 (Paper-l)

IRoll No
IRegistration No
Candidate Name
Test Venue Name  [iON Digital Zone IDZ Powai

Test Date 26/11/2019
Test Time 10:00 AM - 12:00 PM
Subject Junior Hindi Translator Examination 2019

Section : General Hindi

Q1 1 f5y sRS ot faufea g2
Ans o 1 HEyu B

25 2. 3iftrpRur Bt
X 3. TUgH &t
25 4. 3UIGH B

Question ID : 86440717
Status : Answered
Chosen Option : 1

Q.2 #(1)/ 3 A (2) / HH Y aTll A (3) / BT (4) / 91 T (5) / T8I (6)

H BT (1) 3R (2) F I1E IR TG BT G HF T EIM?
Ans X' 15364
W 23564
X 3.3,6,4,5
< 4.56,4,3

Question ID : 86440782
Status : Answered
Chosen Option : 2

Q.3 fAHfafEd & @19 97 e aoaH 81 82
Ans X' 1 T

X 2.qed
25 3.

W 4 T

Question ID : 86440748
Status : Answered
Chosen Option : 4

Q.4 Frafifad d @ S 91 U a1y 1 gafgard 22
Ans X 1.39H
X 2. 3ift
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o 3 TR
X 4.9

Question ID : 86440736
Status : Answered
Chosen Option : 3

Q.5 fyfifed & & ®19 91 Yeg Tqu" ST ygigar T8l 82
Ans X' 1 G

o 2 T
X 3.fevmg

X 4T

Question ID : 86440738
Status : Answered
Chosen Option : 3

Q.6 Yo R & 1Y U g T FHM?
AMAST_ FIIWEI
Ans X' 1 yH
W 2. snar
X 3. WA

X 4 fe

Question ID : 86440731
Status : Answered
Chosen Option : 2

Q.7 - T gera o1 e o 32
Ans X' 1 TRM HAT

X 2. @ifey F
W 3 TEIg R FE
< 4. drE e

Question ID : 86440761
Status : Answered
Chosen Option : 3

Q.8 Yo R & 1Y Iugad g T FHIT?

73U WIS BI V1T f AR &1 g7 faes e
Ans X' 1 §HER

75 2. ¥ag
W 3 5
X 4.
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Q9 frafifed ¥ & aw Wes 71 32
Ans X' 1 e

25 2. famen

W 3w
X 4 d

Question ID : 86440747
Status : Answered
Chosen Option : 3

Q.10 gfomr & S | 9U 82
Ans X' 1.gg

X 2. Ry

X 3.f

o 4. st v

Question ID : 86440759
Status : Answered
Chosen Option : 4

Q1 Ffifed & 9 dga I |1 8?2
Ans ' 1. 9d

X 2. 9%

W 3

X 49

Question ID : 86440746
Status : Answered
Chosen Option : 3

Q.12 fgfafad § d o149 91 ar g 22
Ans 3 1 Tl U gETER PR G|

25 2. 8T 3o gEaaR forg <ifor
W 3. 77 3 gEeR o il
25 4. TgT ST gETER &1 T

Question ID : 8644078
Status : Answered
Chosen Option : 3

Q.13 fgffEa & @ @9 w1 97 g 82
Ans  off 1 T e e G B

X 2. 1 FaT A @ &
2% 3. i T &t B
X 4. a1 w2 T A B
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Status : Answered
Chosen Option : 1

Q.14 gHR (1) / TA H (2) / U} (3) / F (4) / WRefirar # (5) / T (6)

HH BT (1) 3R (2) P 91¢ aTHT T DT TS! HH T SN2
Ans X' 1.6,5,3,4

X 2.3,4,6,5
25 3.56,4,3
W 45634

Question ID : 86440780
Status : Answered
Chosen Option : 4

Q.15 fogferfad # & B A1 g s fhar 82
Ans & 1 Sl

X 2. SR
X 3. sfeT
o 4 e

Question ID : 86440714
Status : Answered
Chosen Option : 1

Q.16 fyFpaT fraer yafgar 82
Ans x 1. Q0 T

X 2. uda s

W 3@

X 4. B BT

Question ID : 86440739
Status : Answered
Chosen Option : 3

Q.17 ggd 3reH ¥ 9ga {59 yHR &1 fawor 32
Ans & 1 ffyq SemaEs

X 2. wde
W 3. i Semares
X 4. aRem Sy

Question ID : 86440713
Status : Answered
Chosen Option : 3

Q.18 "2 AW il & 1' 3 aTed W B AT Weg fopan fasiwor @2
Ans X' 1 M
W 2.9

X 3R
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X 4. s

Question ID : 86440728
Status : Answered
Chosen Option : 4

Ans X' 1. §Ed
X 2. wa
X 3. wR@

W 4 T

Q.19 g ot =i} A FrafifEa § & o9 o1 9= s 82

Question ID : 86440749
Status : Answered
Chosen Option : 2

Q.20 qTg! aTe!’ f5 UbR BT 3T 32
Ans  of 1 g SIS

X 2. 9% quP

7% 3. enyd Sy

X 4. HEeA did

Question ID : 86440727
Status : Answered
Chosen Option : 1

Q.21 foeuer o1 it fasde «ar g
Ans X1 fy+Ty

25 3. fipwr & S TH T
X 4. P & oD A1 g1

x 2. % + e
X 3 R+uy
J 4.1+ Uy
Question ID : 86440756
Status : Answered
Chosen Option : 4
Q.22 fgfafaa & & 19 a1 a9 = 32
Ans o 1 fipwrF % TH T
X 2. fiFw & o\ F A 7

Question ID : 86440710
Status : Answered
Chosen Option : 1

Q.23 Ay F d & R Suged deiien w7 22
Ans X 1. el arer e
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o 2. 3 & o aferl & o

25 3. F1aul va By gEr
X 4. 3d gFH BIHT UHaH

Question ID : 86440762
Status : Answered
Chosen Option : 2

Q.24 T fPaeT yaigar 82
Ans x 1. BT BT

X 2. g5

W 3. s

X 4. o

Question ID : 86440737
Status : Answered
Chosen Option : 3

Q.25 & NN gearar arein & fore Frafif@d § @ o9 91 s gme?

Ans X" 1 Tt
X 2. wfem
o 3. o
X 4. s

Question ID : 86440752
Status : Answered
Chosen Option : 3

Q.26 *3RTRT T e 2reg 1 W12
Ans X' 1 fea

X 2.3
W 3 fRfE
X 4 fRaq

Question ID : 86440743
Status : Answered
Chosen Option : 3

Q.27 39 (1) / TP & (2) / Apferd (3) 1 A (4) 1 Q) BAaTE (5) 1 8 (6)
U TEAT (1) 3R (2) F 1 ITFT TG BT HS! HH FT GRI?

Ans  of 14536
X 2.3,6,56
X 3.3,6,4,5
X 4.5,3,6,4
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Question ID : 86440781
Status : Answered
Chosen Option : 1
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Q.28 @A (1) / T4 A (2) / G T (3) / TR U (4) TR W1 BT WEN HH FT E1N2
Ans X' 1.1,3,4,2

21423
X 3.2,31,4
X 4.4,3,1,2

Question ID : 86440787
Status : Answered
Chosen Option : 2

Q.29 gt F1 R A FuRf@T I PT T I Y= 82
Ans X' 1. ST

X 2. TS
o 3. e
X 4. sneafdre

Question ID : 86440750
Status : Answered
Chosen Option : 1

Q.30 fYga =M & Y Iuged Wee 41 N2
A e emmgl
Ans x 1. 3TOFHT
W 2. 3mud
25 3. e
X 4. Smut

Question ID : 86440733
Status : Answered
Chosen Option : 2

Q.31 fAgfafad & / $19 91 W 97107 &1 yafganrd g2
Ans x 1. 891

W 2 TRE @

X 3. 3fF® @1

X 4w

Question ID : 86440740
Status : Answered
Chosen Option : 4

Q.32 g @Y ST F 3 & Ry W geraw | R?
Ans & 1 Sfcerdl IBa

X 2. IR Y
o 3. T aRE B
X 4. FE AT
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Question ID : 86440765
Status : Answered
Chosen Option : 3

Q.33 5t HfTar & R R # v & forg Frufifea & 4 o7 a1 weg ghme?
Ans x 1. W@fey

25 2. e

X 3. 9ferg

W 4. RE

Question ID : 86440754
Status : Answered
Chosen Option : 4

Q.34 IFDI (1) / GG (2) / @ Y (3) / AP (4) TTHRT AT BT Ag! 69 FT gRN?
Ans X' 1.3,1,2,4

X 21,423

X 3.2,4,1,3

41243

Question ID : 86440785
Status : Answered
Chosen Option : 4

Q.35 fafafEd # & 19 A1 W Fearas wdm 82
Ans x 1.4

W 2 em

X 3.3%

P R

Question ID : 86440711
Status : Answered
Chosen Option : 2

Q.36 HUT (1) / DX (2) / B Y, (3) / TH W (4) T TITAT BT LY 56 FqT GRM?
Ans  of 13,412

X 2.4,1,2,3
X 3.3,1,2,4
X 4.4,3,1,2

Question ID : 86440786
Status : Answered
Chosen Option : 1

Q.37 Fufifad & @ o149 91 U gfRiT 82
Ans X' 1 gRmd

v 2.fem
X 3.
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X 4. 599

Question ID : 86440719
Status : Answered
Chosen Option : 2

Q.38 {MHg A (&P U1 1 39 919 | B9 91 $Td 872

Ans

X 1. 9 adEe
X 2. TP FdH=
W 3. gof adam

X 4. dfewy adae

Question ID : 86440726
Status : Answered
Chosen Option : 2

Q.39 fmfafEa & @ #1919 = 82

Ans

W 1. A8 TS A g R
X 2. RS A gEA B
2 3 TS A B
X 4. T TE A go B

Question ID : 8644077
Status : Answered
Chosen Option : 1

Q.40 femye’ & S A1 Tu 82

Ans

X 1.5
X 2358
X 3. sarft ura

W 4 Ty

Question ID : 86440757
Status : Answered
Chosen Option : 3

Q.41 3r3vor o1 G fsde T gm?

Ans

X 1. 9+ T
W 2.3+ T
X 3.3+ qwm
X 4. 3+ ATl

Question ID : 86440758
Status : Answered
Chosen Option : 2

Q.42 fFmfafld § @ o149 971 3 W 872

Ans

X 1. U
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X 2.9
W 3.5

X 4.9

Question ID : 86440720
Status : Answered
Chosen Option : 3

Q.43 WET {5 YSR 1 faivor g2
Ans X' 1. FEIETES

X 2. wdS
25 3. uRmmEYS

W 4 s

Question ID : 86440712
Status : Answered
Chosen Option : 4

Q.44 fyaa R & 7T Iuge e 71 g2

gl Bl
Ans X' 1 AT
X 2. B
X 3. fye

o 4 Tar

Question ID : 86440734
Status : Answered
Chosen Option : 4

Q.45 fAgfafaa # § 1= 91 gl @iy quf 2
Ans  of 1 g

X 2.y

X 3%

X 41

Question ID : 86440723
Status : Answered
Chosen Option : 3

Q.46 S} I ST 74T g1 a1 @ fore Rferfad & @ ) A1 2reg g m?

Ans “1_3{3”3
X 2.3

X 3.9
X 4. sfafy
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Status : Answered
Chosen Option : 1
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Q.47
Ans

& ae § 1" a1 ® B AT BT 22
o 1. emE g
X 2. 9ER g
X 3. 9E adae

X 4. ol

Question ID : 86440730
Status : Answered
Chosen Option : 3

Q.48 BT FT fadH <Usg T R

Ans

X 1.3®
X 2.3
VAR
X 4.udA

Question ID : 86440745
Status : Answered
Chosen Option : 3

Q.49 Hdy o1 G fasde T ghm?

Ans

X 1T+ A
W 2 T+ d
X 3T+ am
X 4.9\ + AN

Question ID : 86440760
Status : Answered
Chosen Option : 2

Comprehension:

BARI Apditics IR ST, TR 3R =AUl TR (1) 81 39 1 3ii &
Mo (2) B Ap 3 o TfIU™ GRT HeHT-3rT S el fd MU g1 b &
FHit-t HrfufereT SR FaRteT SHigd & ST 8 Tal diid I & T8l ¢ UKl §, 39
SR =8d g H FRIUIRIeT &) U= & Bref & (3) BT TSI &, ol <R

(4) &1 AW T ST 8 | <1iies Sfehaar idda &t Hifd T a5 At Ues 81 g ar d
5 JHYS § N B AN 3P (5) g1

JIRIGd TR & SMYR R Fafafad usl & IR ol
SubQuestion No : 50

Q.50 TTeriET & e ®IH (1) ¥ oY Suged eg 71 ghI?

Ans

X 1. dRa
X 2 fafea
of 3. ameika
/X 4. fafa

Question ID : 86440773
Status : Answered
Chosen Option : 3
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Comprehension:

BARI A ditics IR ST, TR R =AUTfieT IR (1) 31 3 AT 3T &
Yo (2) B AP & o TfIE™ GRT STHT-3aT S el fd U &1 b &
F-FH1 prRiIfereT iR TaRIeT SHiRd & Sl H TEt akie ¥ &I 7161 ¢ UKl §, 39
HRUT A ATgd gu ot rauTieresT &1 U= & S (3) BT TSI &, o 1R

(4) &7 AT o ST 8 | <Ries afshaar Mdda &1 Ui U a5 ae iy s ¢l gfar o
TP TP § ol $© AN SUD (5) &I

IR TR & YR R FHafafad ugi & IR Al

SubQuestion No : 51
Q.51 1erimT & Y I (2) & forQ Iugaa Sreg a1 §RI?
Ans o 1 TEEl

X 2.3
X 3. Yeprat
X 4. geust

Question ID : 86440774
Status : Answered
Chosen Option : 3

Comprehension:

BARI Apdifie SHaRIT HTITITIDT, TTRITST 3R ARUTfeleT TR (1) B 3 1 it &
SR (2) B AH F T WAL GRT SIAT-3HTT S FMeiia fowd e g1 i &
FHit-t HrIUIferedT 3R aRUteT SHied & T & Yl diid o & T8l ¢ UKkl 8, 39&b
HROUT 96d gU H T FI U S HH A (3) BT uSdl 5, R s

(4) 1 1 f&z ST 8 | =i afehadt A &1 Hifd U S8 did iy Ueg | gar |
Trqdr N amzad _ (5) gl

IR TR & YR R FafefEd vyl & IR i
SubQuestion No : 52
Q.52 T7eriRT & Ry I (3) & fore 3R wsg wam gk
Ans O 1 gmf
22 ARy
2 3. fRly

W 4 zwEu

Question ID : 86440775
Status : Answered
Chosen Option : 4

Comprehension:

BRI A dities IR ST, TR R =ARUTfeeT IR (1) §1 39 i i &
3moft (2) BT Ap & o TfIU GRT STHT-3@T S eI fd MU &1 b |
BBt prfuTferdT 3R SRt SHRd % Bl § It ¥l J e 81 ¢ urdl €, 39
FHROT A I8 U N TR S URMRA S FHH_ (3) BT ISl &, o <l

(4) T AT fear ST 8 | <Ries Afshad didbda &1 Hifd T S8 A e g1 gfar o
e gmds e oA ggs (5 W gl

IR TR & MR R Fafifad v & 3@ Al

SubQuestion No : 53
Q.53 e & e R (4) ¥ g Suge wreg Fa1 gRI?
Ans 1 fferTar

X 2. g9ER
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of 3. sfosaan
2 4 TER

Question ID : 86440776

Status : Answered

Chosen Option : 3

Q.54

Ans

Comprehension:

BARI A ditics SHaRIT BT, TTRITST R =AUl TR (1) 81 39 1 3ii &
SO (2) B AP F T WIIU™ R feT-31erT o HuiiRa fard e § | Az
H-Heft prRiTTfereT SR AR SHRd & Bl # It i F e T8t ¢ UTdl €, 39
PR A ATed gu W AT B U= & Sl § (3) AT Ul 7, O =1

_ (4) 1 feam o 81 =fiie afhadr ddd Bt Ui U S8e A e 3| g A
HgHiG e NPT ATsgs _ (5) W3l

IR TR & MTYR R Fafafad usi & 3w Al

SubQuestion No : 54
T & fYaa ®IH (5) & e Suge Wsg T gm?
5 1. RS
o 2 R
X 3. fm
X 4. gz

Question ID : 86440777

Status : Answered

Chosen Option : 2

Q.55
Ans

frafefEa & ¥ w9 a1 9of Wged @R 82
X 1.3
X2
25 3.3l
of 430

Question ID : 86440725

Status : Answered

Chosen Option : 4

Comprehension:

IR PHIY BT AR A1 IR ¢ | oI g g9 Ugan 39 R gHA it b {3 98 afe eR gea o
§gd &=l a6 o1 36T o a8 SR FHeaTdl o1 39 Wk wu H fod I & HRU By Ff faar sik
TSTe! dl HH g S § TR a8 3R &, faaR 3R gfaa & Ty g-aerar o) RfEd H=a &1 IRom

SRR §5d HTA q% a1 61 81 BTY 30T §91d B 831 T B NifSd a7 31 g ofE S
1 qAY T8 3 IR R 39S AU g THT Sal g amaﬁaﬁuahﬁvﬁmwwﬂa%l

3T UG & WY € G @Il B UIfed B BT IR H1Y 3R FS HId did oI R R g

IR TR & YR W Fgfeiad sl & IR e
SubQuestion No : 56

Q.56 T BT IuGS X w1 Fhm?

Ans

X
W 2. P IRK
X 3. g
p N
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Question ID : 864407104
Status : Answered
Chosen Option : 2

Comprehension:

R HIY BT AR A1 IR 7| O g7 g9 Ugan 39 W g0 St iy {3 ag afe guR gea &

§gd &l d& o1 36T ot a8 SR FHgaTdl o | 30 R wU # fed I & HRU 1Y ST fawar sik
Bgasﬁaws‘rweﬁ%u?asaﬁ?éﬁ IR 3R gfad & Ty gaerar & Uifsd A 3 IR
ISR Igd BT b T X8l 8 | HIY ST F419 HRd g X $T NS A o1 gfe anfe Qe
HT I el 3 R SR TP [T g T <l 81 IRad J 1Y 3R ok H hdd dIdt 1 9a g
3 UgaH & O1Y 8 g:eTdl & UifSd F3 1 IR 1Y iR $& PId sl o ]R SR g

JIRIG TR & YR R FHfRad gt & I ol
SubQuestion No : 57

Q.57 fogffed & @ @19 91 $Y= 98t 22
Ans X' 1 TR &ffores B

W 2. FU SRR A FId SR 3
2 3wy g
25 4. DY IR R A PIS R Tl g

Question ID : 864407103
Status : Answered
Chosen Option : 2

Comprehension:

R PHIY BT AR AT TR ¢ | oI g g9 Ugan 39 WR gHA ot el [ 8 afe eam gea o

§gd 37l a6 o1 36T Y a8 R FHgaTdl 8| 39 Wkt U H foF & & RO H1Y Ff fayar sk
s@a@“ra‘rwﬁﬁrﬁﬁ%maﬁsﬁ?aﬁ faaR oIk gfad & Ty gr@arar &) tifed &= &1 tRon
RIR Tgd PTd q% 31 61 81 BIY 30T §91d B 821 T3 B Uifsd F3 31 gfad ofs S
T Y g o TR SR $9F {0 g I 1 § 1 IRad & h1e 3R R § Had H1dl &1 Vg g
3 UgIH & 91y &) gerdl & Uifed A 1 ORUM b1 3R $8 PId sl o R SR g

IR TR & 3MYR W Fafafad usf & IR S
SubQuestion No : 58
Q.58 I § rer BT Y FT 8?2
Ans X 1 Siaq
X 2. =M
X 3.99
W 4T

Question ID : 864407102
Status : Answered
Chosen Option : 4

Comprehension:

R HIY T AR I1 YReaT ¢ | o g g Ugan 39 WR g6 off byl foban a8 afe guR geu o

9gd &7l do o1 38T Y a8 SR FHeadl | 59 Wl U § fows oM & HRUI 1Y I fawar sk
agaéia’rws‘raﬁ%masa?r{% IR 3R gfad & T g:-aerar &1 Uifsd A 31 IR
ISR I§d BT I T X8l & | HIY ST F919 HRd g I HI NfSd H37 o1 gfey snfe Qe
BT gAY 8T 3T R R 39 A€ 9gd THT a1 7 wﬁﬁﬂahﬁ?ﬁmmmﬂa%l
3 UgaH & U1y B g:Werdl & Uifsd F3 &1 IRUM i iR $8 HId aid o1 R SR g

IR TR & TR R Fafafad usi & IR Al

SubQuestion No : 59
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Q.59 fRUar ST Mg =1 82
Ans X 1 fRRar

2 2. raar
25 3. fRferar
of 4. e

Question ID : 864407105

Status : Answered

Chosen Option : 1

Comprehension:

IR PHIY BT AR A1 IR ¢ | oI g g9 Ugan 39 WR gHA ot i {3 98 afe eoR gea o

§gd &7l a6 o1 36T o a8 R FHgaTdl o1 39 Wk wu H fod I & RO 1Y it faar sik
Bﬁﬁﬁwﬁaﬁ%maﬁ'sﬁ?aﬁ faaR oIk gfad & Ty g:aerar &1 tifed &= &1 IRon
SRR Igd PTA q% a1 61 81 BTY 30T §91d B 831 T B NifSd 37 31 gfad ofe drem
T I g ol TR SR 39 {0 g I a1 8| IRd § 1Y 3R R § Had H1dl &l Vg g
3T UG & WY € G- @Il B UIfed B BT IR H1Y 3R F& HId did oI R R g

TWRIG TR & YR R FgfeiRad usi & I |
SubQuestion No : 60

Q.60 "JRT FT AT FT 82

Ans X' 1 91c

f 2 T3
< 3. 8fER
K 4. Y

Question ID : 864407101

Status : Answered

Chosen Option : 2

Q.61 *3Ter BT faey Xeg &1 2
Ans X 1 3Rd

S 2. vfqure
o 3. 3@

25 4. 3Ry

Question ID : 86440744

Status : Answered

Chosen Option : 4

Comprehension:

TN A TR fr e As da s (1) € T2 93U Ut 1 1 311 3w
1 Rith G UeH BT 3R ATagies arH SHH 8 e8] afedp (2) &I Tet f=m &
W 31 SEad I9d § ITa! el off ¢t § oiR ol & g v § | ot ot
e &l Wda, U /HR_ (3) F 1Y 39 TR 9 | FAger g g ot e v
BN o ST B Salra1 SR T g1 3% ANTGH B Yd A SIS | §H I 18w, 3! T,
T 3R Aed & (4) AT BT 1Y B ifean o) ot 39 91 T e 91 g % o
%ﬁ?ﬁwﬁﬁmﬁﬁ@mﬁrﬂaﬁammw (5) R | 3T 39 ST &I
3% I8¢ Taddl I ST g

IR TR & YR R Fafefed vyl & IR s
SubQuestion No : 62
Q.62 TR & Yo R (1) & T Suge e 41 g1?
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Ans

p AN
X 2.8d
X 3.daR

W 4wy

Question ID : 86440767

Status : Answered

Chosen Option : 4

Q.63
Ans

Comprehension:

¥ Tag el o Wifgar die oF o A (ﬂﬁﬁaﬁﬁmu@ﬁmﬂ%&naw
B Rt EATE YeM 1 3R g oy SHAT 8 A8l afcth _ (2) I g&l femn &
Wi B gerd gad § Sge! Rmaral of 7t 8 aﬁ?ﬁ@aﬁq‘raﬁrgﬂwﬁﬁwml 3
Tfear & wa7, o WwWaR (3) & 1Y 3 Wi ° Ht e g g off e e
B R TR STATET B THY §H S0 ANTGH DI T A ¢ | §H I Ied, Sd! 57,
T 3R Agd o (4) AT AT | 1y gt Hifsar &1 Wt 39 91 &1 e [a=1 81 b 3
F IR T FHTS FHT0 B R &7 9y 99 el 396 (5) R | 3T 39 HTH B
3% I8¢ Tadhdl I BT SN

IR TR & YR R Fafifad ugi & W vl

SubQuestion No : 63
TR & et R (2) & 1T Iuga Weg 1 §RIT?
1 ReR
W 2 Sd
75 3. RS
X 4 TgHE

Question ID : 86440768

Status : Answered

Chosen Option : 2

Comprehension:

3O¥ g e o wifsan dve @ &1 3 (1) € et sfeep ST Ugd +ft 81 3 It
HT Rt Y@ UeH HRAT SR SATaIid ard HHAT 8 6l afeh (2) P! Tt = &
ff 71 9god aad § Ut foraarial Wi 9t § ofR Rmiaiial &1 gu & 8 mak ot o
Tifear & wd7, e WwWaR (3) F 1Y I Wi ° Ht e g g off e e
BT 3 HfSan & ST HXd THg 89 I ANTGH $I Yd = SE | §H 30 WIed, 30! 5,
T 3R Agd o (4) BIAT AT | 1y gt Hifsar o1 Wt 39 91 &1 &9 [a=1 81 o 3
F IR T THS FHT0 BT R &7 9y 99y Wiel 396 (5) R | 3T 39 HTH B
3 I8¢ gadal Y HRAT g

IR TR & TR R Fafafad usi & IR Al
SubQuestion No : 64

Q.64 TTeriwT & Yo wIH (3) ¥ oY Suge eg F1 gRI?

Ans

P A
of 2 Tew
5 3. s
X 4

Question ID : 86440769

Status : Answered

Chosen Option : 2
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Comprehension:

o UE ol fop ifsan e o &1 3 (1) 8 TEY afeep I et ot 81 3 ITdhT
BT Rith YT Y& BT AR AT AH BHA 81 751 Sfedp (2) BT ! fe=m &
1t 31 Sead aad o Iue! el 1 a¢t § oiR Rreial & g1 3 & waa ot et
Hfsar &I wd7, e WwaR (3) % 1Y 3 TRl A Wi Fue1 w9 Hi e 7@
BT b ST Y MTeiiaT B THY &1 S TNTGH B Yd 7 S | g6 I I8, 3! [T,
T 3R AgAd B (4) AT BT | 1Y g s &1 Hf 39 91d o1 e @1 g1l o 3t
F R T THTS i & iRt &1 99 9 el 396 (5) R | 3URTT 3 HTH Bl
3= I8¢ Fadal J HRAT I

IR TR & MTYR R Fafafad usi & 3w Al

SubQuestion No : 65
Q.65 TR & e R (4) F RIT STga weg |1 82
Ans  of 1 WHR

X 2. sdleR
X 3.
K 4 4RO

Question ID : 86440770
Status : Answered
Chosen Option : 1

Comprehension:

3% g Y o wifean dve o &1 < (1) B 718t afcw ST vedt B 1 TS ST
T Rith YT UG ST AR ATGHIAD AH BHA 81 To] Sfesp (2) DI ! fe=m &
1t 31 Sead aad B Iue! el +ff a¢t € ok Rrdeial & g1 o & wwav ot ot
Tfsar &I wdz, e JwaR (3) 1Y I Wkl A+t e gsm| &6 it & 3@
B o ST BT STefra1 B T §H S0 ANTGH B Y A S14| §H 3% I, 3! T,
T 3R Agd B (4) AT BRI | 1Y gt WIS &1 ot 39 o1 &1 &9 @1 811 b e
F R T THTS i &t iRt &1 99 v el 396 (5) R | TTTT 39 HTH &I
3% I8¢ Tadbdl I HAT G|

SIRIT TR & YR W HAfaad usii & I G|
SubQuestion No : 66
Q.66 TR & Yo ®I (5) & fore Suge <reg o1 G ?
Ans X' 1 TR
K 2. TS
W 3. &
75 4. g

Question ID : 86440771
Status : Answered
Chosen Option : 3

Q.67 faft (1) / Y- B (2) / € (3) / TETICT (4) / UTY (5) / T BT (6)
U TEAT (1) 3R (2) F TG ITHT TG BT H! HH T §RI?
Ans X' 156 4,3
X 2.4,6,35

W 34653

X 4.6,4,53

Question ID : 86440779
Status : Answered
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Chosen Option : 3 ]

Q.68 udd ¥ U FT yfir F Ry Frafafea & & o1 g g
Ans x 1. faRk

W 2. ST
X 3. o=t
X 4.3F

Question ID : 86440755
Status : Answered
Chosen Option : 2

Q.69 g’ WA-ITH FT [UrATaS fI=TOT T FRIT?
Ans 1 9

W 2.t

X 3.5

X 4.3

Question ID : 86440715
Status : Answered
Chosen Option : 2

Q.70 fFufafEd & & 9 A1 IR FIU FRS BT I 872
Ans  of 1 9% HoeTSt Q38 FreaT B |

X 2. U5 wa firl

X 3. femrery & i P 71

X 4. 98 WY TR AT

Question ID : 86440718
Status : Answered
Chosen Option : 1

Q.71 fgfafaa &  $19 a1 g g 82
Ans  off | TR

X 2 NIIRIAAR

X 3 ARSI

X 4 TR

Question ID : 8644071
Status : Answered
Chosen Option : 1

Q.72 fgfafaa & / w17 ar quf gef=y auof 2
Ans X' 1.5

Wwos

X 3.3

X 4T
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Question ID : 86440721
Status : Answered
Chosen Option : 1

Q.73 fufafa & @ 19 a1 e = 82
Ans X' 1. 30 S ahcht BT

X 2. 39 S H&d B
o 3. 30T T B
X 4. 39 S HSH B

Question ID : 8644072
Status : Answered
Chosen Option : 3

Q.74 fYaa wIH & g Suged eg a1 §IM?

g fp 3mua WY = 1 3SR %Y feam
Ans x 1. P

X 2.4
W 3.3¢
X 4. R

Question ID : 86440732
Status : Answered
Chosen Option : 4

Q.75 Rd A1 9 8 areiw & e Frufafead § @ 19 91 e §me
Ans x 1. 3TH

W 2 R

725 3. e
X 4. s

Question ID : 86440751
Status : Answered
Chosen Option : 2

Q.76 go= B =} A BT AT Te3-gw ARG &1 82
Ans x 1. 91 - 91d

o 2 7ar-wd
X 3. -
X 4.9 6 -95

Question ID : 86440716
Status : Answered
Chosen Option : 2

Q.77 PufafEa & S 1 aTea SHaT ST I 22
Ans  off 1 3 @@ ST R

X 2. AT Eag
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X 3. I 31 el e
X 4. U Far et S|

Question ID : 86440729
Status : Answered
Chosen Option : 1

Q.78

Ans

"&ifor T fAeH e T B2

W 1. 3ImE
X 2.fRRr

P SERIGRIE
X 4. d9q@

Question ID : 86440742
Status : Answered
Chosen Option : 3

Q.79 Hdr (1) / T (2) / TR-9 (3) / & (4) AT W= BT T HH FT SN2

Ans

X 1.3,2,4,1
21324
X 3.1,2,4,3
X 4.1,4,3,2

Question ID : 86440784
Status : Answered
Chosen Option : 2

Q.80 IS} T HeTaR BT w3 w1 B2

Ans & 1 fiRdt @
25 2. <A 3 iR HiT
25 3. & B
W 4 s T
Question ID : 86440763
Status : Answered
Chosen Option : 2
Q.81 fufafaa & & 19 a1 ar = 32
Ans X 1 9 ST, URI ofR g @Gl

X 2. 73 o, UR ofR gRie TG
25 3. T o, TR oI gEae WG|
W 4 T o, ORI o g Wi

Question ID : 8644079
Status : Answered
Chosen Option : 4

Comprehension:

JWT o AT ST gU IO 7 fory Amam ot 991 @ TRt g1t 8, giY & sial & o9 e a8
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Q.82

Ans

Ia F 31fde 71 2 ¥ Al vel & offT I oifie ¥ 31 Tiag Hel ao Fad yde AR ad
THhd ¢, 3% IWId dgsit T T 3R T 31 T & HRUT 37 ¥ +ff Bl &7 TR 3R 39T
B Tl § 3R 3T UHR TN 3 aTelt 3R g A aralt fohamail & et sR1eR g1 o & | s &
O &t A - safdaal & fra-R e St 81 3R a1 B T SR offe A w9 9 |
foreraT 8 ST TR & 9gd ¥ 3R 93-93 ANl & T8 701 /IR A TURA ardl ifies I &
& T5-dax U8 T R arhl &l Ht 31 81 a Sfl-dodt I ot o1t IR 1 sra=adh giat
8 fora=m TR el &1

IR T & YR R Fafarad ust & 3w 4|

SubQuestion No : 82
I BT 34 T 32
P R
f 2. =H
X 3. 9fy
75 4. PR

Question ID : 86440795
Status : Answered
Chosen Option : 1

Q.83

Ans

Comprehension:

I Y& ATt ST §U WIfOrt & Fory A ot 991 @ TR gt &, Y & Sl & o9 IiE 98
Ia § 3ifdes g1 2 ¥ Al vel & o9 I ifie ¥ 31t Tiag gel aw aq yde ardR ad
Thd §, 3P IWId dgsft H T 3R T 311 T & HRUT 3N ¥ +ff Bl 7 TRAT 3R 9T
B Tt § 3R 3T UHR TN - aTalt 3R g - arait fohamail & Ueet sR1eR 61 9 o | Fs1 &
O &t A - safdaal & fra-Re et St 81 3R A bl o SiRm 31e A e 9 o
T § ST UUR & 9gd ¥ 3R 93-98 TN § 8 T[0T TSR A SURA a1 S T &
& T5-dahx U8 T R arll &l Hft 31 81 a Sfl-dodt Iu ot siftie |1 1 srazadsdr giat
 fora=m Tnemor an &

IIRIGd TR & YR R FgfaRad udf & W Siford|
SubQuestion No : 83
gifire &1 f T 8?

21 st

X 2.d

W 3. erft

2 4 fagm

Question ID : 86440798

Status : Answered

Chosen Option : 3

Comprehension:

JWT X AT ST gU OO & forg wmam &bt 91 @ TR g1t 8, Y & Shal & o9 2mae a8
3a  3ifdes B 1 2 ¥ A1l wel & o9 I ifiew | 31t Tiag el aw fad yde iR ad
THd §, ST% I dgeil & e 3R 7t 31 9 & HROT 3 & of gl H1 TRt ok w1
B S B 9IR 3 YR UIN0T I3 aTelt 3R g1 = arat fapanail & ueet sRTeR 81 9 § | g &
O &1 A - safdaal & fra-Re 35 St 81 3R A bl T SR offe A e 9 o
QT & ST WR & 95 U 3R 93-9S TN § 8 T[0T TSR A FURA a1 G T &
IS T5-daR U8 T R arhl &1 Hft 31 81 a Sfl-dodt 3T ot oiftes IR 1 srazadsdr giat
& fora=m T aen &Y

IWRIGd TR & YR R FgfaiRed udf & S o
SubQuestion No : 84

Q.84 iy &1 rf T B2

Ans
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5 1. ORvsd
X 2. s
W 3. TOR

25 4. U@

Question ID : 86440796
Status : Answered
Chosen Option : 3

Q.85

Ans

Comprehension:

I & ATt ST g€ WIorat F o T ot 2wt @ TR gt 8, giY & ohdl & o9 I 9
3d  3ifes 81 3T A el el &b o 3 o § e Hierg ©el deb FraH gde AR e
THhd ¢, 3P IWId agsft H T 3R A 311 M & HRUT 3G ¥ +ff Hel &7 TR 3R e
B Il 8 3R 39 UHR U1 I aTelt 3R g1 B arell fobaraii & ued sReR 81 o &1 Fsr &
O &1 AT - safdaal & fre-Re et St 81 SR @ &l foraT SR offs A e I
forerar 8 ST TR & 9gd ¥ IR TS-9S AN B T8 01 TWHR Aifa TURA ardt i T &
& Tg-aHR U MY R Al & Ht a1 & 9 Haft-elt S oft oifiies I ot sraxgdsan gt
 fora=m anemor el &

IR TR & YR R FAAffEd ugl & IR diford|
SubQuestion No : 85
BT FT T FIT 82

p R

Y

X 3. faem

X4

Question ID : 86440799
Status : Answered
Chosen Option : 2

Comprehension:

I e ATt ST g€ WIorat F o T @6t 37 @ TRE gt 8, giY & ohdl & o9 I 9
Ia F 3ifdes 71 2t ¥ Al wel & oiF 3 oifde ¥ 31 Tiag Hel aw Fad yde AR ad
Tohd §, TP WA dgell & e SR Tt 341 9 & HROT 3 ¥ o gl o1 TRt 3R w1
B STt & SR T YRR UTUT e aTcit 31k BT A aTall feharstt & Ueet sRTaR 81 o o | s &
Hd &1 A - safdaal & fre-Re 3 St 81 3R @ Bl T SR ors A |9 i o
QT § ST HUR & 9gd ¥ 3R 93-98 TNl § 8 70T TESHR A SIRA a1 S T &
& T5-dahx U8 T R arll &l Hft 31 81 a Sufl-dodt 3T off o1t IR ot sra=adsd giat
 fora=m anemor an &

IR TR & YR R Fafafad ust & 3w |
SubQuestion No : 86

Q.86 e BT P vy 71 872

Ans

25 1 TR
of 2.z
25 3. frferar
p R

Question ID : 86440797
Status : Answered
Chosen Option : 2
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Q.87 fmfafea & ¥ #1991 a1y g 82

Ans X' 1 Hopo oo fra e gl
X 2. T 5o H1 9o fore faan §
X 3. T g o oo foa fean gl
4 oo mos e g

Question ID : 8644075
Status : Answered
Chosen Option : 4

Q.88 7w Yz o a1 Apif H1 wdt ord 7T 32
Ans  off 1 3R aTd @ Uete ST

7 2. [y ara
X 3. fagamgef ara
X 4. @Al 919

Question ID : 86440764
Status : Answered
Chosen Option : 1

Q.89 Frgfafad # & 19 91 avf I e 872
Ans X' 1@

X 23

v R

X4z

Question ID : 86440722
Status : Answered
Chosen Option : 3

Q.90 fufafaa & & 19 a1 Tt = 82
Ans X' 1. 3T & el ST

25 2. 3= S g S|
75 3.3 & g el
W 4. 98 H yeT S|

Question ID : 8644074
Status : Answered
Chosen Option : 4

Q.91 ffafEd & @ $19 91 a9 5 32
Ans «1_31:[@%3‘“

X 2. I HI YIRS B

X 3. T HFP AR &

X 4 TR E
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l Chosen Option : 1

Q.92

Ans

Comprehension:

ST T St el 37 RETE Uil & 98 Sfawy YATafid 3MTeiles il & BRI 8 | 37 3HTelieb qeail
@ Yafid 7 e uerd 8 a? argHed, St gedt ol IR 3R | AU 81 g b faol 31
AT R USd g3 o) 3| U8 agHed SR a1, Ui, AR 3 17 & akelt b Wt
Tt BT, Had AIH! T BHI TN B YeATafeld Bl & TR SR deb F SHH 7 femars
TSl 2| 8T U o1d 3R g =R fob arg & A<t gr ot ot g ot g B1 W & sifafead
ﬂﬁ%}gﬁ%@%@gw—t{wmﬁﬁ% 31 & HRU YA R YA & 9mg

|

IIRIGT TR & YR R FfaRad udf & S Siford|
SubQuestion No : 92

TP a0 B BT Yearafdd Har 872
X
X 2.7sq
X 3. TR
o 4 agHsA

Question ID : 86440792

Status : Answered

Chosen Option : 4

Comprehension:

MBI BT S el 7 feaTs Usdl § a8 fawd Yrafid il awiil & SR | 3 Ml awil
) UATafdd B arar ugrd § 12 argEsd, S gedt o IRt o I aue 81 g &t il g9
JgHST IR TSl 83 3Tl 8| I ITgHSH SR ard, Uiel, AR 3n1fe T &1 a<ht &) uamafd
6 BT, et A T P} AN DI YATARTd BT § ORI SR A H S 1 foams
USdI 81 T6T U o1d 3R JHgH! a1t fob arg & Ui} @r &at o1 Wiy 4t kgt 81 10 & sifafvad
ﬁﬁ@éﬁ%eﬁgm—sm@ﬁw%l T I HRYYIed IR GaRd & g9

|

IR TR & MR R Fafafad ust & 3R |
SubQuestion No : 93

Q.93 g &1 S |1 22

Ans

X 1.3
< 2. uET
of 33T
X 4 g

Question ID : 86440790

Status : Answered

Chosen Option : 3

Comprehension:

T BT ! el T faxaTs Usdl & 98 A<y Umafdd 3l deiil & BRU g | 37 3l avil
@ Jafid A el uerd 8 dr? argHed, St gedt ol IRy 3R | e 81 g7 b fvoi 39
IIHSH W ISl §3 3l &1 I8 TgHSd SHWR ard, Uidt, TRl o T ot axelt &) ueamafela
61 T, had HTFHT I BT q bl YTl BT & FoRIY HUR bl A AT 77 g
TSaT 7| I8 U §1d SR G e fob arg & i€t gr o1 ot g o gt §1 Wi & sifafead
ﬁﬁ;{gﬁ%ﬁ;ﬁ%ﬁgﬂ-ﬁ%ﬁﬁﬂﬁ%l 1 P PRU YIed IR YA & T

|

IR TR & YR TR Fgferad us & I v’

SubQuestion No : 94
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Q.94

Ans

TS BT AT AT 82
X 1w
X 2.3
W 3. UEm
b ACE)

Question ID : 86440789
Status : Answered
Chosen Option : 3

Q.95

Ans

Comprehension:

MBI BT S el 7 TS Usdl § a8 Sfawd Urdfid il aiiil & RIS | 3 Tl awiil
@ yrafad S ara gerd § 2 argHed, o gadt B IRt ofk § aue B 1 g &t fawol g9
JgHST IR TSl 83 Tl | I8 ITgHS SR ard, Uidl, AR 3n1fe T Y a3t &) uamafea
61 B, bae ATGHI T B! AN Bl YA B & R SHUR Al A A 1 femg
TS 3| T8T T o1 3R JHH! 1T 3 arg & Uit gr o/ bt Wig ot gl 81 41 & sifafad
?@%ﬁﬁ@é@ﬁ%eﬁgm—smmw%ﬂ 31 & BRI YAeT R Jaid & T0d

|

JIRIG TR & SMYR W Fafaiad usi & 3w {ford|
SubQuestion No : 95

galea & a9a fead sRUT arel fRars usdi 82
X 1fm

p A
W 3.5

X 4.7ETS

Question ID : 86440791
Status : Answered
Chosen Option : 3

Comprehension:

BT BT ot =l T fEETE Usdl & 98 a9y Yraidd 3dlie aeil & PRI & | 37 3Mefid i
@ Jafid 7 e uerd 8w aigHsd, off gedt Bl IRt 3R § @i 81 gF b fvoi 39
IGHST W TS §3 Ml &1 T8 TgHST SHWR a1, Ui, TR 31fE i bt it bl yeamafai
6! B, B SATTH T B! LN Pl TATENId BT § o SHUR dle J S ¥ fe@ms
TSaT 7| I8 U §1d SR G Afeu fob arg & i€t gr o1a ot uig o gt §1 Wi & sifafkad
ﬁﬁ;{gﬂ%ﬁ;ﬁ%sﬁgm—awssﬁﬁﬂﬁ%l 1 P PRU YIed 3R YA & g7

|

IR TR & YR R fFafaRad usit & 3w |
SubQuestion No : 96

Q.96 "TTad BT T T 82

Ans

P R
W 2. e
25 3. TEa
S 4.3

Question ID : 86440793
Status : Answered
Chosen Option : 2

Q.97 AR F} (1) / Pt &7 (2) 1 3rgare (3) / v wam (4) / = (5) 1 wTaT A (6)
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U ST (1) 3R (2) F 9IG ITH WG BT Tl HH T ERM?
Ans X' 1.4,5,6,3

75 24356
35634
25 456,43

Question ID : 86440778
Status : Answered
Chosen Option : 3

Q.98 gz 1 i g T FRM?
Ans X 1 TN

W 2. @

X 3.3

X 4.g&

Question ID : 86440741
Status : Answered
Chosen Option : 2

Q.99 UHS (1) / &I (2) / 7 (3) / TGI (4) ATHRT TIAT BT Ag! 6T FT g2
Ans X' 1.1,3,4,2

21324
X 3.2,1,3,4
542,413

Question ID : 86440783
Status : Answered
Chosen Option : 2

Q.100 PrafRifRe & & B9 &1 auf wTvToT sie 82
Ans qu;

K29

X 3.d

X oam

Question ID : 86440724
Status : Answered
Chosen Option : 1

Section : General English

Q.1 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select ‘No substitution'.

Each of the two brothers wants the cake but neither have any manners.

Ans x 1. either have no manners
x 2. No substitution

f 3. neither has any manners
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X 4. neither have some manners

Question ID : 864407188
Status : Answered
Chosen Option : 1

Q.2

Fill in the blank with the most appropriate word.

The manager's planning proved to be very profitable for the company.

Ans X 1. ingenuous
x 2. innocuous
X 3. imperial
( 4. ingenious
Question ID : 864407138
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.3 Select the correct passive voice of the given sentence.
The Enforcement Directorate has seized a 22-room sprawling seaside farmhouse in
Alibaug.
Ans X 1. A 22-room sprawling seaside farmhouse in Alibaug is seized by the Enforcement
Directorate.
{ 2. A 22-room sprawling seaside farmhouse in Alibaug has beemseized by the
Enforcement Directorate.
x 3. A 22-room sprawling seaside farmhouse in Alibaug will be seized by the
Enforcement Directorate.
25 4. A 22-room sprawling seaside farmhouse in‘Alibaug.is being seized by the
Enforcement Directorate.
Question ID : 864407122
Status : Answered
Chosen Option : 2
Q.4 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.
A year-long march called 'Jai Jagat 2020’ carried the message of non-violence, started
from Raj Ghat on 2nd October, 2019 to mark the 150th birth anniversary of Mahatma
Gandhi.
Ans X' 1. A year-long march called 'Jai Jagat 2020'
( 2. carried the message of non-violence, started from Raj Ghat
x 3. No error
X 4. to mark the 150th birth anniversary of Mahatma Gandhi.
Question ID : 864407112
Status : Answered
Chosen Option : 4
Q.5 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. But unfortunately, this so-called best friend has turned a foe.
B. These changes can produce fatigue, dizziness and loss of concentration.
C. The cell phone has now usurped the dog's place to become man's best friend.

KD Job Updates



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


D. Research studies have concluded that the microwave frequencies penetrating the
heads of cell phone users can cause adverse neurological changes.

Ans X' 1 DBAC

W 2. cADB
72X 3.CBAD

/X 4.DCAB

Question ID : 864407184
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select 'No substitution'.

When | was passing through the street, | heard a loud scream and saw smoke raising
from a building.

Ans x 1. No substitution

J 2. saw smoke rising from a building
x 3. saw smoke raising in the building

X 4. see smoke raised out of a building

Question ID : 864407189
Status : Answered
Chosen Option : 2

Q.7 Select the correct passive voice of the given sentence.

The Supreme Court temporarily halted the cutting of trees in Aarey Milk Colony.

Ans X 1. The cutting of trees in Aarey Milk colony was being temporarily halted by the
Supreme Court.

J 2. The cutting of trees in Aarey Milk colonyfwas temporarily halted by the Supreme
Court.

x 3. The cutting of trees in Aarey Milk colony has been temporarily halted by the
Supreme Court.

x 4. The cutting of trees in Aarey Milk colony had been temporarily halted by the
Supreme Court.

Question ID : 864407121
Status : Answered
Chosen Option : 1

Q.8 Fill in the blank with the most appropriate word.

A good novelist should be
Ans x 1. pretentious

to appeal to the readers’ sentiments.

J 2. perspicacious
x 3. precarious

X 4. preposterous

Question ID : 864407140
Status : Answered
Chosen Option : 1

Comprehension:
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Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank No. 1

Ans K 1. whom
?{ 2. what

o 3. which
?{ 4. who

Question ID : 864407157
Status : Answered
Chosen Option : 3

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9), habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank No. 2

Ans K 1. reaching
?{ 2. reached

?(: 3. for reaching

qf’ 4. to reach

Question ID : 864407158
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)
tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9), habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank No. 3
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KF 1. attached

J 2. divorced

KF 3. retained

< 4. dissolved

Question ID : 864407159
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 12
Q.12 Select the most appropriate option to fill in blank No. 4

Ans K 1. understood
25 2. underway
KF 3. undermined

J 4. undertaken

Question ID : 864407160
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10), faculties to display their instinctive greatness.

SubQuestion No : 13
Q.13 Select the most appropriate option to fill in blank No. 5

Ans ?{ 1. accessory
X 2. further

qf 3. surplus

?{ 4. supporting

Question ID : 864407161
Status : Answered
Chosen Option : 4

Comprehension:
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Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 14
Q.14 Select the most appropriate option to fill in blank No. 6

Ans X' 1 reclined
?{ 2. regressed

)(: 3. relapsed

{ 4. refined

Question ID : 864407162
Status : Answered
Chosen Option : 4

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)
tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9), habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 15
Q.15 Select the most appropriate option to fill in blank No. 7

Ans 3 1 put
?{ 2.s0
25 3
4’ 4.or

Question ID : 864407163
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank No. 8
Ans
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)(: 1. applicable
X 2. apply
)(: 3. applicant

! 4. application

Question ID : 864407164
Status : Answered
Chosen Option : 3

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank No. 9

Ans { 1. purposeful
x: 2. remorseful
KF 3. disgraceful

25 4. disdainful

Question ID : 864407165
Status : Answered
Chosen Option : 1

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank No. 10

Ans { 1. these
25 2. that
5 3. their
& 4. this

Question ID : 864407166
Status : Answered
Chosen Option : 1

Q.19 Select the option that arranges sentences A, B, C and D in a logical sequence.
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Ans

Q.20 Select the most appropriate antonym of the given word.

Ans

Q.21 Select the most appropriate synonym of the given word.

Ans

Q.22 Select the most appropriate meaning of the given idiom.

Ans

A. This reputation overwhelms his record and when people think of him, their first

thought is his temper, not his great record.

B. He is one of two coaches in college history with 800 or more victories.

C. Basketball coach Bob Knight won three NCAA titles at Indiana University.

D. But he also has a well- documented history of arguing violently with referees.

75 1.BDAC
25 2.cpAB

+ 3.CBDA

75 4.cDBA

Emancipate

J 1. enslave

?{ 2. elevate
KP 3. extract

?{ 4. extricate

Affliction
KF 1. dexterity

q’ 2. distress

KF 3. diffidence

x: 4. delusion

Give one the slip

?(: 1. to flatter others
2(: 2. to neglect someone
?(: 3. to give a notice

Qf 4. to escape from someone
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Q.23 Select the most appropriate antonym of the given word.

Derision
Ans x 1. raillery

J 2. adulation

KF 3. contusion

?{ 4. embezzlement

Question ID : 864407150

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.24 Select the correct active voice of the given sentence.

A stringent view of the matter of stubble burning has been taken by the Green
Tribunal.

Ans x 1. The Green Tribunal had taken a stringent view of the matter of stubble burning.
J 2. The Green Tribunal has taken a stringent view of the matter of stubble burning.
KF 3. The Green Tribunal is taking a stringent view of the matter of stubble burning.

?{ 4. The Green Tribunal took a stringent view of the matter of stubble burning.

Question ID : 864407119
Status : Answered
Chosen Option : 2

Q.25 Select the option which correctly converts the given sentence into direct speech.

The beggar entreated the lady to let him stay there for a while and refresh himself.

Ans K 1. The beggar said to the lady, "Please let myself stay-there for a while and refresh

me."
2(: 2. The beggar said to the lady, "Let him stay-there for a while to refresh himself."
Qf 3. The beggar said to the lady, "Kindly\letime stay here for a while and refresh myself."

2(: 4. The beggar said to the lady, "l will stay here for a while and refresh myself."

Question ID : 864407129

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.26 Fill in the blank with the most appropriate word.

The chairman the members to be restrained during the board meeting.
Ans 3 1. absolved

?{ 2. abjured

KP 3. adjourned

W 4. adjured

Question ID : 864407139
Status : Answered
Chosen Option : 3

Q.27 Select the option which correctly converts the given sentence into direct speech.
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The speaker said that they ought to defend the honour of their country even if they
had to lay down their lives for it.

Ans K 1. The speaker has said, "We ought to defend the honour of our country even if you
have to lay down your lives for it."

KF 2. The speaker says, "You ought to defend the honour of your country even if you have
to lay down your lives for it."

Qf 3. The speaker said, "We ought to defend the honour of our country even if we have to
lay down our lives for it."

){ 4. The speaker said, "They ought to defend the honour of our country even if they
have to lie down their lives for it."

Question ID : 864407127

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.28 Select the correct active voice of the given sentence.

Aspersions are being cast on the treasurer of the society by some members.

Ans K 1. Some members had cast aspersions on the treasurer of the society.
){ 2. Some members were casting aspersions on the treasurer of the society.
( 3. Some members are casting aspersions on the treasurer of the society.

){ 4. Some members cast aspersions on the treasurer of the society.

Question ID : 864407118
Status : Answered
Chosen Option : 3

Q.29 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

It is custom for the Ministry of external affairs to welcome a visiting dignitary by way
of banners.

Ans K 1. to welcome a visiting dignitary
Q, 2. Itis custom for the Ministry
KF 3. No error

25 4. by way of banners

Question ID : 864407114

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.30 Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. | taught a class at a telecom centre a few years ago.

B. During the lunch break | asked him where he was from and he replied Singapore.
"That's a great city!" | said.

C. In fact, he was so sure of himself that he offered to pay $100 for each time he used
them.

D. He thought it was easy not to use these words at all.

E. One of the men in my class mocked me when | mentioned the problem of using 'no’,
'but’ and 'however' in our conversations.

F. "Yes," he replied, "It's great but....." Then he smiled and reached his pocket for cash.

Ans  of 1 AEDCBF

75 2. ACEBDF
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7% 3. AECDBF

5 4. ADCBEF

Question ID : 864407181
Status : Answered
Chosen Option : 3

Q.31 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

There are several ways of increase production from the same piece of land.

Ans X 1 the same piece of land
KF 2. There are several ways
){ 3. No error

{ 4. of increase production from

Question ID : 864407108
Status : Answered
Chosen Option : 4

Q.32 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. Of this about 60% gets recycled, according to the Union environment ministry.

B. India generates at least 25940 tonnes of plastic waste daily equal to the weight of
4300 elephants.

C. Proper waste collection and management is at the core of ensuring more plastic
gets recycled instead of ending up in landfills and oceans.

D. The rest gets dumped in landfills, clogs drains, goes into the ocean as micro plastic
or is burnt leading to air pollution.

Ans o 1. BADC
/5 2.BCAD
/< 3.CBDA

/5 4.cADB

Question ID : 864407186
Status : Answered
Chosen Option : 2

Q.33 Fill in the blank with the most appropriate word.

As soon as Hitler came to power he started the Jews.
Ans K 1. plicating

Qf 2. persecuting
)(: 3. persisting

?{F 4. prosecuting

Question ID : 864407136
Status : Answered
Chosen Option : 4

Q.34 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

Barely had she entered her home that her children began pestering her for food.

Ans K 1. pestering her for food
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o 2. that her children began
?{ 3. No error

KP 4. Barely had she entered

Question ID : 864407113
Status : Answered
Chosen Option : 4

Q.35 Select the option which correctly converts the given sentence into direct speech.

He exclaimed with regret that he had behaved very rudely with his colleagues.

Ans K 1. He said, "Bravo! What rudely have | behaved with my colleagues.
?(: 2. He said, "Aha! How rudely | have behaved with my colleagues."
\, 3. He said, "Alas! How rudely have | behaved with my colleagues!"

?(: 4. He said, "Oh! So rudely | have behaved with my colleagues."

Question ID : 864407128

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.36 Select the option which correctly converts the given sentence into indirect speech.

She said to you, "l did not know that you bought these things for me yesterday."

Ans x 1. She told you that | had not known that you had bought those things for me the
previous day.

qf 2. She told you that she had not known that you had bought those things for her the
previous day.

x: 3. She told you that you did not know that you bought those things for her yesterday.

KF 4. She told you that she did not know that | had bought these things for her yesterday.

Question ID : 864407134

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.37 Select the option which correctly converts the given sentence into indirect speech.

She said to me, "Shall | post these invitations for you today?"

Ans \, 1. She asked me if she should post those invitations for me that day.
?(: 2. She asked me that if she should post those invitations for me today.
2(: 3. | asked her if | shall post these invitations for her that day.

?(: 4. She asked me if she could post these invitations for me that day.

Question ID : 864407131
Status : Answered
Chosen Option : 2

Q.38 Fill in the blank with the most appropriate word.

No wonder the burglars are at large. The police is in with them.
Ans x‘ 1. collision

KF 2. contention
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q’ 3. collusion

KF 4. corroboration

Question ID : 864407137
Status : Answered
Chosen Option : 3

Q.39 Select the most appropriate antonym of the given word.
Authentic
Ans Qf 1. spurious
KP 2. sanguine
KF 3. static

< 4. sombre

Question ID : 864407146
Status : Answered
Chosen Option : 4

Q.40 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. Her first trip was in 1996 as a third year college student.

B. Her interaction with locals and Tibetan refugees has further helped her to
understand the psyche of displaced individuals.

C. Since then the fight for Tibetan identity has fascinated her.

D. A large part of Shalini Vichitra 's creations on displacement is influenced by her
travels to Ladakh.

Ans X 1. DCBA
/< 2.DBCA

25 3.DABC

o 4. DACB

Question ID : 864407187
Status : Answered
Chosen Option : 3

Q.41 Select the most appropriate synonym of the given word.

Reticent
Ans K 1. radical

Qf 2. reserved

)(: 3. righteous

?{F 4. robust

Question ID : 864407144
Status : Answered
Chosen Option : 4

Q.42 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select ‘No substitution'.

No sooner did the police arrived that the robbers made good their escape.

Ans ?(' 1. had the police arrived that

{ 2. did the police arrive than
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?{: 3. was the police arrived when

KP 4. No substitution

Question ID :
Status :

Chosen Option :

864407192

Not Attempted and
Marked For Review

Q.43 Select the option which correctly converts the given sentence into indirect speech.

Ans

The old man said, "Farewell my friends. May you live in peace and prosperity!"

{ 1. The old man bade his friends farewell and prayed that they might live in peace and
prosperity.

)(: 2. The old man bid his friends farewell and prayed that they may live in peace and
prosperity.

)(: 3. The old man bade his friends farewell and prayed that you may live in peace and
prosperity.

KF 4. The old man bids his friends farewell and prays that they might live in peace and
prosperity.

Question ID :

Status : Marked For Review

Chosen Option :

864407135
Not Attempted and

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 44

Q.44 Which of these statements is NOT correct?

Ans

KF 1. Oceanic quakes can trigger devastating tsunamis.
){ 2. Major earthquakes release more energy than man-made explosives and bombs.

KF 3. The destructive power of an earthquake depends on the depth of its focus.
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4’ 4. The tectonic plates are rapidly moving sections which build stress in the earth's
crust.

Question ID : 864407201
Status : Answered
Chosen Option : 4

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 45
Q.45 The passage mainly deals with

Ans 4’ 1. the phenomenon behind the occurrence of earthquakes and their measurement.
2(: 2. the contribution of Charles Richter in developing a scale for measuring earthquakes.
2(: 3. how the seismologists can accurately predict earthquakes based on precise data.

2{ 4. the history of earthquakes and the devastation caused by them.

Question ID : 864407204

Not Attempted and

Status : Marked For Review

Chosen Option : --

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
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Q.46
Ans

Q.47
Ans

below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 46
The deep focus earthquakes are less damaging because

2{ 1. the crust in motion is very close to the surface and its effect passes away quickly.
2{: 2. they can be predicted well in advance and precautions can be taken.
2{ 3. they are very rare and their intensity is usually low to moderate.

q’ 4. the motion of the crust is thousands of kilometers deep under the surface.

Question ID :

Status : Marked For Review

Chosen Option :

864407202
Not Attempted and

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 47
What does the phrase 'educated guess' mean in the passage?

2{ 1. a gut feeling guess made by scientists based on intuition and foreboding.
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f 2. a guess based on knowledge and experience which is likely to be correct.
KF 3. a wild guess which is not based on any statistical data.

?{: 4. a guess made by educated people like seismologists which is always correct.

Question ID : 864407203

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 48
Q.48 An earthquake is caused due to the

Ans K 1. incredibly slow motion of the tectonic plates on the earth's crust.
?{: 2. deep focus that originates hundreds of kilometers below the surface of the earth.

{ 3. sudden violent shifting of the crust along a weak zone when excessive stress builds
up.

KF 4. shallow focus just a few dozen kilometers below the earth's surface.

Question ID : 864407200

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.49 Select the correct active voice of the given sentence.

They were questioned by the immigration officer.

Ans K 1. The immigration officer was questioning them.
){ 2. The immigration officer will question them.

f 3. The immigration officer questioned them.
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)(: 4. The immigration officer is questioning them.

Question ID : 864407116
Status : Answered
Chosen Option : 1

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , We realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 50
Q.50 Select the most appropriate option to fill in blank No. 1

Ans K 1. denied
2 2. delegated

KF 3. deprived

{ 4. derived

Question ID : 864407168
Status : Answered

Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 51
Q.51 Select the most appropriate option to fill in blank No. 2

Ans K 1. notoriety

?{ 2. demeanour

{ 3. stature

?{' 4. countenance

Question ID : 864407169

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
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Q.52
Ans

Q.53
Ans

Q.54
Ans

phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , We realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 52
Select the most appropriate option to fill in blank No. 3

2{ 1. infringement
2< 2. intrusion

{ 3. impact

2{ 4. imposition

Question ID : 864407170
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 53
Select the most appropriate option to fill in blank No. 4

)'(: 1. perfection
2(: 2. solution
2(: 3. integration

4’ 4. completion

Question ID : 864407171
Status : Answered
Chosen Option : 4

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , We realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 54

Select the most appropriate option to fill in blank No. 5
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Q.55
Ans

Q.56
Ans

KF 1. deals

25 2. has been dealing
KF 3. is dealing

of 4. dealt

Question ID : 864407172
Status : Answered
Chosen Option : 3

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 55
Select the most appropriate option to fill in blank No. 6

KF 1. enticed
x: 2. engulfed
{ 3. embraced

< 4. encroached

Question ID : 864407173
Status : Answered
Chosen Option : 3

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 56
Select the most appropriate option to fill in blank No. 7

of 1.of
KF 2. at
X 3.by
?{ 4.0n

Question ID : 864407174
Status : Answered
Chosen Option : 1
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Q.57
Ans

Q.58
Ans

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , We realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 57

Select the most appropriate option to fill in blank No. 8
X 1is
{ 2. were
2{ 3. are
2{ 4. was

Question ID : 864407175
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , We realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 58

Select the most appropriate option to fill in blank No. 9
4’ 1. perspective
)'(: 2. eminence
2(: 3. outlook

2(: 4. vantage

Question ID : 864407176
Status : Answered
Chosen Option : 1

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , We realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.
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SubQuestion No : 59
Q.59 Select the most appropriate option to fill in blank No. 10
Ans K 1. vanquished

{ 2. transcendent
KF 3. extraneous

< 4. impetuous

Question ID : 864407177
Status : Answered
Chosen Option : 3

Q.60 Select the most appropriate synonym of the given word.

Surreptitious
Ans X 1. audacious

2% 2. forthright
1/ 3. clandestine

?(' 4. avaricious

Question ID : 864407145

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.61 Select the most appropriate meaning of the given idiom.

To bear the palm

Ans 3 1 to be in a difficulty
{ 2. to be the winner
KF 3. to be very rich

/5 4.to bear the burden

Question ID : 864407151
Status : Answered
Chosen Option : 1

Q.62 Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. Destructive comments are cutting sarcastic remarks we spew out daily.

B. If people are asked to list the destructive comments made by them in the last 24
hours, they will quite often come up blank.

C. Such remarks serve no other purpose than to put people down.

D. This is because such comments were made without thinking so are erased from
memory.

E. They are meant to hurt them or assert ourselves as their superior.

F. However, the objects of our scorn remember every biting comment made at their
expense.

Ans  of 1 ACEBDF
&% 2. ABCDEF
/< 3.AEBCDF

&5 4. ADBECF

Question ID : 864407182
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Status : Answered
Chosen Option : 2

Q.63 Select the correct passive voice of the given sentence.

Who will investigate cases related to funding of terror groups?

Ans q’ 1. By whom will cases related to funding of terror groups be investigated?
KF 2. By whom will cases related to funding of terror groups been investigated?
?{ 3. By whom will cases related to funding of terror groups be investigated by?

KF 4. By whom are cases related to funding of terror groups being investigated?

Question ID : 864407124
Status : Answered
Chosen Option : 1

Q.64 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. When the imprisoned king heard this, he somehow sent word to his son.

B. Long, long ago there was a king in Tibet who was kidnapped by his enemies.
C. "Don't waste any gold to get me back. Instead, spend money to bring good
Buddhist monks from India."”

D. They demanded a ransom of gold, equal to the weight of the king.

Ans o 1. BDAC
25 2.CABD
25 3.BCAD
25 4.DACB

Question ID : 864407183
Status : Answered
Chosen Option : 1

Q.65 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

We seem to be blind in the fact that we are all to blame for the degradation of the
environment.

Ans K 1. No error
Qf 2. We seem to be blind in the fact
2(: 3. degradation of the environment

?(: 4. that we are all to blame for the

Question ID : 864407110
Status : Answered
Chosen Option : 2

Q.66 Select the correct passive voice of the given sentence.

Do not disturb me while | am preparing my project report.

Ans x‘ 1. 1 am not to be disturb while | prepare my project report.
( 2. | should not be disturbed while | am preparing my project report.
x: 3. I should not have been disturbed while | was preparing my project report.

KF 4. Let me not being disturbed while | am preparing my project report.

Question ID : 864407123
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Status : Answered
Chosen Option : 4

Q.67 Select the most appropriate meaning of the given idiom.

Ans

Q.68

Ans

Q.69

Ans

Q.70

Ans

Close fisted
Qf 1. miserly
KF 2. very angry
?{ 3. benevolent

KF 4. revengeful

Question ID : 864407152
Status : Answered
Chosen Option : 2

Select the most appropriate antonym of the given word.

Indolent

2(: 1. apathetic
?(: 2. phlegmatic
Q, 3. enthusiastic

?(: 4. lackadaisical

Question ID : 864407149

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Select the correct active voice of the given sentence.

The urgency to conclude the Regional Comprehensive Economic Partnership had
been prompted by global uncertainties.

2(: 1. Global uncertainties has prompted the urgency to conclude the Regional
Comprehensive Economic Partnership.

4’ 2. Global uncertainties had prempted the urgency to conclude the Regional
Comprehensive Economic Partnership.

?{ 3. Global uncertainties prompted the urgency to conclude the Regional
Comprehensive Economic Partnership.

?(: 4. Global uncertainties were prompting the urgency to conclude the Regional
Comprehensive Economic Partnership.

Question ID : 864407120
Status : Answered
Chosen Option : 2

Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

Mohan's mother asked him that if he had watered all the plants in the morning.
2(: 1. No error

?(: 2. Mohan's mother asked him
Q, 3. that if he had watered

?(: 4. all the plants in the morning
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Question ID : 864407107
Status : Answered
Chosen Option : 3

Q.71 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select ‘No substitution'.

No other girl in the college is so prettier as her.

Ans 3 1_as prettier as her
KF 2. so pretty as herself
25 3. No substitution

1{ 4. so pretty as she is

Question ID : 864407191
Status : Answered
Chosen Option : 4

Q.72 Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. You would have noticed maps in shopping malls that say, "You are here."

B. They also guide you about the location of various stores and eating joints and how
to get there.

C. They seem to be blessed with an internal compass that orients them automatically.
D. They are put up to orient you in unfamiliar territory, to tell you where you are.

E. But, there are some people who never need these maps.

F. They always make the correct turn and end up exactly where they intended via the
shortest route.

Ans X' 1 ABDCEF
« 2. ADBECF
/% 3.AECDBF

&< 4. ACEBDF

Question ID : 864407179
Status : Answered
Chosen Option : 2

Q.73 Select the most appropriate antonym of the given word.

Imperative

Ans ?(' 1. obligatory

)(: 2. obtrusive

J 3. optional

KF 4. ostentatious

Question ID : 864407148

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.74 Select the most appropriate synonym of the given word.

Apposite
Ans K 1. contrary

W 2. suitable
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?{ 3. adequate

< 4. debased

Question ID : 864407142
Status : Answered
Chosen Option : 4

Q.75 Identify the segment that contains a grammatical error. If there is no error, select '‘No

Ans

error'.

We should be cautious while placing our trust in others, specially in matters involving
money.

Qf 1. No error

KF 2. specially in matters involving money
?{ 3. We should be cautious

25 4. while placing our trust in others

Question ID : 864407109

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.76 Select the correct active voice of the given sentence.

Ans

Are you frightened by snakes and spiders?

?{ 1. Will snakes and spiders frighten you?
4’ 2. Do snakes and spiders frighten you?
x: 3. Did snakes and spiders frighten you?

KF 4. Are snakes and spiders frightening you?

Question ID : 864407117
Status : Answered
Chosen Option : 4

Q.77 Select the option which correctly converts the given sentence into direct speech.

Ans

He has said that the soldier stuck to his post till further orders from the Captain of the
regiment.

1, 1. He has said, "The soldier stuck to his post till further orders from the Captain of the
regiment."

KF 2. He said, "The soldier stuck to his post till further orders from the Captain of the
regiment."

?{ 3. He says, "The soldier stuck to his post till further orders from the Captain of the
regiment."

?(: 4. He said, "The soldier sticks to his post till further orders from the Captain of the
regiment."

Question ID : 864407126

Not Attempted and

Status : Marked For Review

Chosen Option : --

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.
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| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.

SubQuestion No : 78
Q.78 Which of these statements is NOT correct?

Ans 2{' 1. The man with the lighter had no cigarettes to declare to the customs officer.
2{ 2. The lighter was actually a contraption to hide dollar bills.
x" 3. The narrator was initially not aware of money being smuggled out of the country.

J 4. Everybody joined in the argument about the fur coat being a used, article.

Question ID : 864407196

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.
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Q.79

Ans

Q.80

Ans

SubQuestion No : 79

What indicates that the customs officers were not much concerned about the goods of
the passengers?

KF 1. They trusted the passengers to declare their goods honestly before the authorities.
){: 2. The customs officers were sure that everything was in order and no scrutiny was
required.

{ 3. The officers checked a few cases at random but did not go through the contents
very thoroughly.

KF 4. The official collected passports wearily and stamped them mechanically.

Question ID :
Status :

Chosen Option :

864407195

Not Attempted and
Marked For Review

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.

SubQuestion No : 80

The narrator did not think much about the refusal of the man to lend the lighter
because

KF 1. he was busy filling in forms for the customs clearance.
x: 2. he thought the man was not generous enough to share his fine lighter.
KF 3. the officials had come into the compartment to check passports.

{ 4. he was distracted by the heated discussion going on about the customs
examination.

Question ID :
Status :

Chosen Option :

864407194

Not Attempted and
Marked For Review

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.
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| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.

SubQuestion No : 81
Q.81 Which word in the passage means 'giving full attention'?

Ans 2(' 1. extremely
?{ 2. rapidly
'#’ 3. intently

?{ 4. wearily

Question ID : 864407198

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.
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SubQuestion No : 82
Q.82 Why did the customs officer unscrew the lighter?
Ans

Qf 2. He had grown suspicious because of the man's nervousness and his uneasy

demeanour.

?{' 3. He wanted to repair it as he had a strong urge to smoke his pipe.

?(: 4. He knew there were high value dollar notes hidden in the lighter.

?{ 1. The lighter was of very fine quality and too valuable to be left lying around.

Question ID

Status :

: 864407197

Not Attempted and
Marked For Review

Chosen Option : --

Q.83 Select the option which correctly converts the given sentence into indirect speech.

You said to her, "l am feeling tired and want to rest now."

Ans K 1. You told her that | am feeling tired and want to rest now.
qf 2. You told her that you were feeling tired and wanted to rest then.
KP 3. She told you that she was feeling tired and wanted to rest now.

?{ 4. You said her you were feeling tired and wanted to rest then.

Question ID :
Status :

Chosen Option :

864407132

Not Attempted and
Marked For Review

Q.84 Select the most appropriate meaning of the given idiom.

Cat and dog life

Ans x 1. to wander aimlessly
qf 2. to be frequently quarrelling
KF 3. to lead a nomadic life

25 4.tolive in poverty

Question ID : 864407155
Status : Answered
Chosen Option : 4
Q.85 Select the most appropriate synonym of the given word.
Diligent
Ans 4’ 1. persevering
2% 2. didactic
2< 3.languid
?{ 4. prodigal
Question ID : 864407143
Status - Not Attempted and

Chosen Option :

Marked For Review

Q.86 Select the most appropriate meaning of the given idiom.
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In one's element

Ans X" 1. in one's favour
KF 2. in a cheerful mood
?{ 3. in a disguise

J 4. in a comfortable situation

Question ID : 864407154
Status : Answered
Chosen Option : 1

Q.87 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

The green expanse which Rita, the chimpanzee played around in her prime days, lies
drearily vacant now.

Ans Qf 1. The green expanse which Rita, the chimpanzee
KP 2. No error
?{ 3. lies drearily vacant now

2(: 4. played around in her prime days

Question ID : 864407111
Status : Answered
Chosen Option : 4

Q.88 Select the option which correctly converts the given sentence into indirect speech.

| said, "Let us not jump to a conclusion but wait till we get confirmation of this
rumour."

Ans x‘ 1. I suggested that let me not jump to a conclusion but wait till | get confirmation of that
rumour.

KP 2. | said that we shall not jump to a conclusion but wait till we got confirmation of this
rumour.

{ 3. | suggested that we should not jump, to‘a conclusion but wait till we got confirmation
of that rumour.

?{ 4. | said that we should not jump-fo a conclusion but wait till we get confirmation of this
rumour.

Question ID : 864407133

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.89 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select ‘No substitution'.

The player was so exhausted to continuing playing the match.

Ans x, 1. so exhausted to continue to play
KF 2. No substitution
x: 3. so exhausted to continuously played

4’ 4. too exhausted to continue playing

Question ID : 864407190
Status : Answered
Chosen Option : 3
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Q.90 Identify the segment that contains a grammatical error. If there is no error, select '‘No

Ans

Q.91

Ans

Q.92

Ans

Q.93

error'.

Not only the performers but also the audience deserve credit for the success of the
musical show.

?{: 1. No error
)(: 2. Not only the performers
?{F 3. but also the audience

{ 4. deserve credit for the success

Question ID : 864407115
Status : Answered
Chosen Option : 4

Select the correct passive voice of the given sentence.

The Archaeological Survey of India is building another museum to house excavated
objects from across the country.

{ 1. Another museum is being built by the Archaeological Survey of India to house
excavated objects from across the country.

)(: 2. Another museum is built by the Archaeological Survey of India to house excavated
objects from across the country.

KF 3. Another museum will be built by the Archaeological Survey of India to house
excavated objects from across the country.

KF 4. Another museum has been built by the Archaeological Survey of India to house
excavated objects from across the country.

Question ID : 864407125
Status : Answered
Chosen Option : 1

Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. Douglas had a childhood fear of water which he tried to overcome at the pool.

B. This harrowing experience became his handicap and its memory haunted him for
long.

C. But just when he was trying to feel at ease in water, he had another misadventure.
D. It ruined his fun at the fishing trips and deprived him of the joy of boating or
swimming

E. A big bully tossed him into the deep pool and he almost drowned.

F. The fear of water stayed with him throughout his life.

&5 1. ABDECF
75 2. AECDBF
o 3. ACEBDF

75 4. ABCDEF

Question ID : 864407178
Status : Answered
Chosen Option : 4

Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. Mountaineering is still a precarious task despite the protective equipment and
oxygen masks available to the climbers.

B. Another important factor for the success of a climber is his presence of mind which
can keep death at bay.
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C. It is this alertness which safeguards the climber and his expedition.

D. The success of the mountaineer is ultimately determined by his stamina and will
power.

E. These, of course, are indispensable accessories of climbing but what is more
important is the climber's stamina.

F. One false step can strike a fatal blow to the climber and bring disaster to the
expedition.

Ans  f 1. AEDBCF
7 2. AECDBF
/< 3. ADEBCF

/7% 4. ABECDF

Question ID : 864407180
Status : Answered
Chosen Option : 3

Q.94 Identify the segment that contains a grammatical error. If there is no error, select ‘No
error'.

Einstein was an unusual child with no indication at his potential greatness.
Ans }(' 1. with no indication

?{F 2. No error
q’ 3. at his potential greatness

2{ 4. Einstein was an unusual child

=

Question ID : 864407106
Status : Answered
Chosen Option : 2

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.
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SubQuestion No : 95

Q.95 In primitive man the hostility came into play when

Ans K 1. there was excessive inbreeding within a group
2{ 2. frontiers of groups were far removed
J 3. there was contact with other groups

K 4. economic motives became dominant

Question ID : 864407208

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 96

Q.96 For primitive man acquaintanceship often meant friendship because

Ans K 1. man was acting instinctively
2{: 2. resources were shared among the group members
J 3. small group size facilitated intimate friendships.

2{ 4. marriages were not allowed outside groups

Question ID : 864407209

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:
Read the passage and select the most appropriate options to answer the questions that
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Q.97
Ans

follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 97
What is the conclusion that can be arrived at from the passage?

x" 1. Conflict within a group leads to evolutionary stagnation.

J 2. Individual initiative is necessary for progress andfsogial‘€ohesion is necessary for
survival.

){ 3. Progress is necessary for cooperation and devotion to the group is necessary for
survival.

2{' 4. Hostility is necessary for progress and social cohesion is necessary for survival.

Question ID :

. Not Attempted and
" Marked For Review

Chosen Option :

864407210

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
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Q.98
Ans

Q.99

and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 98

According to the passage the practice of cooperation in man has its basis in

q’ 1. instinct

2(. 2. devotion
25 3. initiative

2(. 4. authority

Question ID :

Status : Marked For Review

Chosen Option :

864407207
Not Attempted and

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 99

When the ancestors of primitive man came down from the trees, they gained the
advantage of

i. prehensile toes

ii. arms and hands
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iii. no longer having to live in the forests
iv. more abundant nourishment

Ans X' 1 iandiv
W 2 i andjii

25 3. iiand iv

Question ID : 864407206

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.100 Select the option which correctly converts the given sentence into direct speech.

| asked him if it had never occurred to him that even the meanest profession could be
made to look dignified.

Ans Q, 1. I said to him, "Has it never occurred to you that even the meanest profession can be
made to look dignified?"

KF 2. He said to me, "Has it ever occur to you that even the meanest profession can be
made to look dignified?"

?('F 3. I said to him, "Have it never occurred to you that even the meanest profession can
be made to look dignified?"

?{ 4. | said to him, "Have it never occurred to him that even the meanest profession could
be made to look dignified?"

Question ID : 864407130
Status : Not Answered
Chosen Option : --
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